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On page 58 of the textbook, the operating margins for 2016 and 2017 are reversed. It should 

read: 

 

 

 

 

On page 59 of the textbook, the current ratios for 2016 and 2017 are reversed. It should read: 

 

 

 

 

On page 141, the wage index example should include Albany instead of Buffalo. The wage index 

for Albany is 0.8688. The wage-adjusted operating payment should be: 

Albany: (0.62) × (5, 574.11) × (0.8688) + (0.38) × (5,574.11) = $5,120.69 

2016 Operating Margin =  

2017 Operating Margin =  

2016 Current Ratio = =2.78 

2017 Current Ratio = =2.84 


